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Chapter 1 Test

You may not use a calculator... Good Luck!

1. Evaluate the following limits by using the graph of the function

(a) limx_,_4+ f(x) =0
(b) lim,_,_4- f(x) = 5

(c) lim,,_, f(x) = DNB

3>

2. Suppose you are given lim,._,. f(x) = =7 and lim,_,. g(x) = 14, calculate the following limits:

27a) limgoc[f)gG)] = 1)) = =98 ,,r(r;) limyo,c—9f @) = =9(-7) =63
29%° 2P

; p
Q) lim, L8 = =gl (d) lim,.,. g(x)? = 14

sl R e = 190

Evaluate the following limits

3. limx-*O-Z(l-cosx) =[Im -2 m .__—----Im(osx 4, Iimx—bO‘x4_%\ U 0 [ oy 5
i X-70 %30 X -

‘Lpts o= .y o vts_%'
g it 3 s(X+3)

: 5x+15 = IIM
‘pf 5. limx—)n tan ('S'6'x') = {an ( i-g") 6. llmx—b-—3 xz_xe_ls X—9=-3 (x+3xx _g)
e S “
1 -8 ) = [LE{E 29 = lm & = -5
> ( 3 z 2 ":;3 x=1-3 X-S 3
.r —
% 7. lim,_ 4+ V16 — x* = DNE 8. lim,._ ¢+ jx-i-86 = ©0
! 7 $
\ \ ® £(L.00) = = _ =+
-y | =
9. lim sin@Bx)cos(x) _flIm SN (3X) \/ Im oS x)
o e TR %20 BxX /| %10
'Lph = ( ] )( I) = |

(x+8x)%~(x+8x)-6-(x%-x-6) - Im

10. limAx_,o e Ax=30 . 3 . A X
?’“ g IIM Ax(zx-rAx'b = 2x~|
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iscuss the continuity of each function. Be sure to clearly justify your answers. If there is discontinuity,
specify whether it is removable or not, and where it occurs.

x%-25
11. f(X) ~ x2-15x+50

2 ptS

Removable disconhnuity afk x=5
Non- removable distonhnuity In +he form of an

asymptote at =10

12. f(x) =

| p¥

removabl e dlsconf-mux'ry ot r=|\,
Q’\ole)

13. f(x) = sin(x) — 4x?

2p%

Every where conbnuous becouse FUx) 1S the sun
0f +wo conhnuows Pfunchons

sinty) and - Yyx*

9 x<3

14. Find the value of a such that f(x) = is everywhere continuous.

29%°

ax=7 - x>3

al(3)-"1 =
3arsiz

a=y

15. Use the Intermediate Value Theorem to show that f(x) = 2x® — 5x2 — 10x + 5 has a zero in the

interval [—1,2].

2= = 20-N2 -5(-D*10(-1) +5
= -2-5 +10 45

flx) IS everywhere conhnuous because

+ 18 a polynomiad.
___lq (0(8 4‘(")

? i since  £(4
5 pe . | 3 £(x) must have @ Tero In o
f(2)= 202)°-5(2)* -10(2) +5 interved  [-1,27] .

= l6-20-20 +5

= -19

1\ 7.
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